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Help prepare your
GCSE students
with confidence

Every year in GCSE Maths exams, students
often misread, misunderstand or misinterpret
questions and don't always do what the
question is asking them to do.

This booklet has been designed by our curriculum experts for you
to use with your students to explore real responses. Inside you’ll
find best practice approaches, example responses, examiner
commentaries and tips on how to access more marks.
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GCSE MATHS: ANSWERS AND COMMENTARIES

Foundation Tier — Paper 3
Question 5(b)

5 (b) Times for the three parts of a journey are

e 20 minutes
¢ 40 minutes

e 1 hour 30 minutes.

Work out the total time for the journey.

Give your answer in hours.
[2 marks]

Answer

© 2022 AQA 5



Question 5(b), response 1

5 (b) Times for the three parts of a journey are
« 20 minutes
s 40 minutes
+ 1 hour 30 minutes.

Work out the total time for the journey.

Give your answer in hours.
[2 marks]

2 0Y B = éO Tt

et i 3Q)mn S '
n —‘:‘qf._bam BOFW
Answer ‘—L = % hours

Commentary
This student adds together the first two times in minutes and then adds to the third time.

They then converts 2 h 30 mins into 2.5 hours (decimal answer).

2 marks

© 2022 AQA



GCSE MATHS: ANSWERS AND COMMENTARIES

Question 5(b), response 2

[2 marks]

ey Z-h 3D [-:un'g

hours

5 (b)  Times for the three parts of a journey are

* 20 minutes

s 40 minutes

+ 1 hour 30 minutes.
Work out the total time for the journey.
Give your answer in hours.

L Owt LOon= boﬂ'{m_&_
_ _bowmns = 1h
I
Answer z
Commentary

This student adds together the first two times in minutes and then adds to the third time.

They then convert 2 h 30 mins into 2% hours (fraction answer).

2 marks
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Question 5(b), response 3

5 (b) Times for the three parts of a journey are
¢ 20 minutes
« 40 minutes

s | hour 30 minutes.

Work out the total time for the journey.

Give your answer in hours.
[2 marks]

Vhr o01as #2omins = Jhrk s
[~ T T Sominr + Gorrearp — hrXuiar

Answer i Lf S b"":-qj hours

Commentary

Here the student has correctly added together the three times but leaves answer in
hours and minutes instead of converting to full hours and part of an hour.

1 mark
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 5(b), response 4

5 (b) Times for the three parts of a journey are
s 20 minutes
¢ 40 minutes

e 1 hour 30 minutes.

Work out the total time for the journey.
Give your answer in hours.

[2 marks]
b) + 30 +LO 1o = (50muy
, ;r_:/
2 Inrx 20 it
Answer 2 AovT  nours

Commentary

The student has correctly added together the three times and shown them as 2 h 30
mins. However they then show only the complete number of hours in the answer line.

1 mark
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Question 5(b), response 5

5 (b) Times for the three parts of a journey are
e 20 minutes
= 40 minutes

» 1 hour 30 minutes.

Work out the total time for the journey.
Give your answer in hours,

[2 marks]
201bo = 6o i poli

N Boxzot? ‘o;("? — ) ol
ADO7 1L.50

lw‘)l‘ 3] f\u\“lk

Answer ] (2_. n ,5 hours

Commentary

The student correctly adds together the three times and show as 2 h 30 mins but then
incorrectly converts to number of hours. There is a misconception that time follows the
decimal system.

1 mark
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 5(b), response 6

5 (b) Times for the three parts of a journey are
s 20 minutes
» 40 minutes

e 1 hour 30 minutes.,

Work out the total time for the journey.

Give your answer in hours.
[2 marks]

GO

\ 3O ___

Answer l— hours

Commentary

In this answer the student shows their method to add the times. They add the minutes
to total 90 minutes and then shows this next to 1 hour.

However, they incorrectly give the answer as 1 hour ignoring the 90 minutes.

1 mark
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Question 5(b), response 7

5 (b)  Times for the three parts of a journey are
s 20 minutes
+ 40 minutes

= 1 hour 30 minutes.

Work out the total time for the journey.
Give your answer in hours.

[2 marks]
I 32 -90
ﬁc éﬂo@w Lo

Answer 7_ hours

Commentary

The student has shown their method to add times. They add minutes to total 90
minutes and then show next to 1 hour.

They incorrectly give the answer as 2 hours, ignoring the additional 30 minutes.

1 mark
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 6

Pens cost 20p each.

Rulers cost 60p each.
Saj buys some pens and some rulers.
He buys 8 rulers.

The total cost is £10

How many pens does he buy?
[3 marks]

Answer

© 2022 AQA 13



Question 6, response 1

6 Pens cost 20p each. -
Rulers cost 60p each:
Saj buys some pens and some rulers.
He buys 8 rulers.
The total cost is £10

How many pens does he buy?
[3 marks]

bep X €= L% Ls B U=

(O- €O = .20 20
S8 = 2B = 1 ¥ L X0
\C - QO

Answer u 7

Commentary
Fully correct solution.
3 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 6, response 2

B Pens cost 20p each.
Rulers cost 60p each.
Saj buys some pens and some rulers.

He buys 8 rulers.
The total cost is £10

How many pens does he buy?
[3 marks]

anﬁ: QDP : _
A0ka) = A6

toe (4) =4 - 90
clo —-¢€4 . 80 = €65 .23

Answer &S

Commentary

This answer correctly calculates the total of 8 rulers and correctly subtracts £4.80 from
£10 to achieve £5.20.

It does not progress to work out the number of pens he buys with £5.20.

2 marks
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Question 6, response 3

6 Pens cost 20p each.
Rulers cost 60p each.
Saj buys some pens and some rulers.

He buys & rulers.
The total cost is £10

How many pens does he buy?

60;‘-’5'5:,1750 izgg ,
i ; - +115

[3 marks]

Answer ?,

Commentary

This student incorrectly divides 60p by 8 to get £7.50 and then equivalently subtracts
£7.50 from £10 for the second independent method mark.

1 mark
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 6, response 4

6 Pens cost 20p each.
Rulers cost 60p each,
Saj buys some pens and some rulers.
He buys 8 rulers.
The total cost is £10

How many pens does he buy?
[3 marks]

510 600 foc Gruels.
xR glg'g@
Pens 90p=-1570.- -

Answer i i

Commentary

The student correctly calculates the total of 8 rulers and correctly subtracts £4.80
from £10 to achieve £5.20. They then appears to use build up to £5 for 25 pens
without dividing.

They may not have used a calculator.

2 marks
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Question 8

In this question use 1 litre = 1000 millilitres

A mixture is made using white paint and red paint.

amount of white paint = amount of red paint + 7

5.6 litres of red paint will make more than 6 litres of the mixture.

How much more?

Give your answer in millilitres.

Answer

[4 marks]

18
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 8, response 1

B8 In this question use 1 litre = 1000 millilitres
A mixture is made using white paint and red paint.

- amount of white paint = amount of red paint + 7 . ‘
|

. A—

5.6 litres of red paint will make more than 6 litres of the mixture.

How much more?

Give your answer in millilitres.
[4 marks]

£6-2-0.8 500 mu

wﬂfw So-Pao—

L{'F o<

Commentary

The student correctly works out 5.6 + 7 = 0.8 and coverts to 800 ml.

They then subtracted 800 from 5600 instead of adding onto 5600 to achieve 6400 ml.
2 marks
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Question 8, response 2

8 In this question use -Hitre-==000-FillHitres-
A mixture is made using white paint and red paint.

amount of white paint = amount of red paint + 7

5.6 litres of red paint will make more than 6 litres of the mixture.

Ee

How much more? o)

Give your answer in millilitres.

'*; . GL —_ Séoc v i WL Libras

[4 marks]

¥

rh(_[_{(; _{,’_'l—x - k* % T : [re |l""- |f:_ }r':?(;_g i 'r
— = = oo
—  Sbopo w2r1 & Blae
gﬁvﬁa (> —* beo = 6 Lo =)
é’ QC{T - 6@(_'} — L{.C—(_‘) i ul"lch.,}
Answer ‘,-kC'(J mi

Commentary
Fully correct solution.
4 marks

20
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 8, response 3

8 In this question use 1 litre = 1000 millilitres
A mixture is made using white paint and red paint.

amount of white paint = amount of red paint + 7

Cooo
5.8 litres of red paint will make more than 6 litres of the mixture.

How much more?

Give your answer in millilitres.
b= lovo = g~600
Yboo < 7=000

[4 marks]

Answer Q‘Q o mi

Commentary

Here the student correctly converts 5.6 litres to 5600 ml and then correctly works out
5600 + 7 = 800 ml for the amount of white paint but does not progress further.

2 marks
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Question 8, response 4

In this question use 1 litre = 1000 millilitres
A mixture is made using white paint and red paint.

amount of white paint = amount of red paint + 7

5.6 litres of red paint will make more than 6 litres of the mixture.

How much more?

Give your answer in millilitres.

‘5501:: [4 marks]

req S.b lles - 98 LY A PP %b ¢
0.8l .92

oy - o

Whik = S b -2V N bop= Boomiltes. . L

5 bos +80 — bleco
Answer Mml
Commentary

In this answer the student correctly works out 5.6 + 7 = 0.8 and coverts to 800 ml for
the white paint.

They then correctly add the red and white paint together to total 6400 ml but does not
work out how much more the total paint is than 6 litres.

2 marks

22
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 8, response 5

8 In this question use 1 litre = 1000 millilitres
A mixture is made using white paint and red paint.

amount of white paint = amount of red paint = 7 |

5.6 litres of red paint will make more than 6 litres of the mixture.
n— P—

How much more?

Give your answer in millilitres.

[4 marks]
2 wk\-'xmﬁ
AN 2 AC00 sesmrees \
A ( . )xS©
G.6 5 =) = SE&OC’ E{\}‘Swﬂb
1 Vet = \OOD wawikees
= = G uxes = OO0 ) ‘_)&TG'
; GO0 -R0OO
€00 =3 = 300 — SZ20@
Answer S 2000 mi
Commentary

The student has correctly converted 5.6 litres to 5600 ml and then correctly works out
5600 =+ 7 = 800 ml for the amount of white paint.

They correctly convert 6 litres to 6000 ml, but incorrectly subtract 800 from 6000
instead of adding onto 5600 to achieve 6400 ml.

2 marks

© 2022 AQA 23



Question 8, response 6

In this question use 1 litre = 1000 millilitres
A mixture is made using white paint and red paint.

amount of white paint = amount of red paint + 7

5.6 litres of red paint will make more than 6 litres of the mixture.

How much more?

Give your answer in millilitres,
[4 marks]

dnate = Recdd~7 = S.G = 0.5
=@©. 4
=@ LarTned . U0 nasaameno ).

Answer 4O mi

Commentary

In this method the student correctly works out 5.6 + 7 = 0.8 and adds to 5.6 to achieve
6.4 litres of paint in total.

They do not correctly convert 6.4 litres to 6400 ml and incorrectly states the answer as
40 ml rather than 400 ml.

2 marks

24
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 9

Some students were asked about their daily exercise.

9 (a) 12 more students answered Yes than answered No.

Complete the frequency tree.
[3 marks]

Total number Exercise Time exercising
of students taken

At least
1 hour

Less than
1 hour

One of the 35 students who answered Yes is chosen at random.

What is the probability that they exercise for at least 1 hour?

Answer

© 2022 AQA




Question 9, response 1

9 Some students were asked about their daily exercise.

9 (a) 12 more students answered Yes than answered No.

Complete the frequency tree.
[3 marks]
Total number Exercise Time exercising
of students taken

At least
1 hour

Yes
Less than

1 hour

St i B T
5403

S-S

Commentary
Fully correct solution.

3 marks

26 © 2022 AQA



GCSE MATHS: ANSWERS AND COMMENTARIES

Question 9, response 2

9 Some students were asked about their daily exercise,

9 (a) 12 more students answered Yes than answered No.

Complete the frequency tree.

[3 marks]

Total number Exercise Time exercising
of students taken

At least
1 hour

e

Less than
1 hour

Commentary

8 is correct for ‘Less than 1 hour Exercising” but the student incorrectly uses 12 from
the question (possibly misreads) for ‘No exercise taken. They then correctly follow
through to score B1ft for 35 + 12 = 47.

2 marks

© 2022 AQA

27



Question 9, response 3

9 Some students were asked about their daily exercise.

9 (a) 12 more students answered Yes than answered No.

Complete the frequency tree.
[3 marks]

Total number Exercise Time exercising
of students taken

At least
1 hour

Yes
Less than
1 hour

Commentary

The student correctly places 8 and 23 in correct ovals for ‘Less than 1 hour Exercising’
and ‘No exercise taken'. They then incorrectly add together 35 + 27 = 62 for the final

mark instead of 35 + 23 = 58.
2 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 9, response 4

9 Some students were asked about their daily exercise.

9 (a) 12 more students answered Yes than answered No.

Complete the frequency tree.
[3 marks]
Total number Exercise Time exercising
of students taken

At least
1hour __—

Less than
1 hour

Commentary

15 is incorrect for ‘Less than 1 hour Exercising” then 23 is correct for ‘No exercise taken’
with 100 incorrect as “Total number of students. Presumably the candidate thought that
the total had to be out of 100.

1 mark
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Question 9, response 5

9 Some students were asked about their daily exercise.

9 (a) 12 more students answered Yes than answered No.

Complete the frequency tree.
[3 marks]

Total number Exercise Time exercising
of students taken

At least

1 hour _
_a—_'-’-'-'_'_

Yes o

Less than
\

1 hour

Commentary

8 is correct for ‘Less than 1 hour Exercising” but the student incorrectly adds 12 onto 35

to give 47 for ‘No exercise taken’. They then correctly follows through to score B1ft for
35+ 47 = 82.

2 marks

30 © 2022 AQA



GCSE MATHS: ANSWERS AND COMMENTARIES

Question 9, response 6

9 Some students were asked about their daily exercise.

9 (a) 12 more students answered Yes than answered No.

Complete the frequency tree.
[3 marks]

Total number Exercise Time exercising
of students taken

At least
1 haur

Yes
Less than
1 hour

Commentary

8 is correct for ‘Less than 1 hour Exercising” but makes an error in subtracting 12 from
35 (probably without using a calculator) to give 13 for ‘No exercise taken’. They then
correctly follow through to score B1ft for 35 + 13 = 48.

2 marks
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Questions 11(a) and 11(b)

11 (a) Here is a number machine.

Input

Work out the output.

Answer

11 (b) Here is a different number machine.

Work out a formula for d in terms of c.
[2 marks]

© 2022 AQA




GCSE MATHS: ANSWERS AND COMMENTARIES

Question 11(a), response 1

11 (a) Here is a number machine.
Input Output
+268 [—— =21
Waork out the output.
[1 mark]
IR ¥L6= D¢
YL =2 v U
Answer &J.
Commentary

Fully correct answer with 4 given on the answer line.

1 mark

© 2022 AQA

33



Question 11(a), response 2

11 (a) Here is a number machine.

Input Output

+ 26 +21

k3

Work out the output.

5Ky 26= 82

[1 mark]

Answer 3_ . q

Commentary

The student has made a mistake in the addition of 58 + 26 (probably without using a
calculator) to give 82. The error does not allow a mark as there is an independent mark
for a correct answer of 4, even with correct method shown.

0 marks

34 © 2022 AQA



GCSE MATHS: ANSWERS AND COMMENTARIES

Question 11(a), response 3

11 (a) Here is a number machine.

Input Output

+26 + 21

W

Work out the output.
[1 mark]

53424:20 25¢.23%

Answer £9.23

Commentary

The candidate has used the priority of operations, causing an error where they work out
26 divided by 21 and then added it onto 58.

The rule of the function machine must be used by doing the addition first, either by
adding 58 + 26 = 84 and then dividing by 21 to give correct answer 4, or by correctly
using brackets in the calculator (58 + 26) = 21 = 4.

0 marks

© 2022 AQA 35



Question 11(b), response 1

11 (b) Here is a different number machine.

Input Output

x3

W
I
)

Work out a formula for & in terms of ¢.
[2 marks]

Answer é': CX3 =5,

Commentary
This is a correct solution with the use of the multiplication sign ¢ x 3 condoned.
2 marks

36 © 2022 AQA



GCSE MATHS: ANSWERS AND COMMENTARIES

Question 11(b), response 2

11 (b) Here is a different number machine.

Input Output

x 3

L
|
o

Work out a formula for ¢ in terms of c.
[2 marks]

J:ZL-S

Answer J = e —

QA

Commentary

Fully correct solution with correct use of algebra without multiplication sign for 3c.
2 marks

© 2022 AQA 37



Question 11(b), response 3

11 (b) Here is a different number machine.

Input Output

o
|
w

o

Work out a formula for d in terms of ¢.
[2 marks]

(x3-%

Answer 2N =

Commentary

No subject stated, the student only shows the correct right hand side of the formula and
so loses one mark.

1 mark

38 © 2022 AQA



GCSE MATHS: ANSWERS AND COMMENTARIES

Question 11(b), response 4

11 (b} Here is a different number machine.

Input Qutput

L
[
w

e

Work out a formula for « in terms of ¢.

Cx3-5-=(d C=d+5
L x3 :(JQ,T,S,, 3

Answerﬁi‘d'__f’ e C :—‘isti

[2 marks]

Commentary

The student incorrectly works backwards from right to left showing the inverse function
of the correct answer d = 3¢ + 5.

1 mark
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Question 11(b), response 5

11 (b) Here is a different number machine.

Input Output

W
|
n

M3

Wark out a formula for 4 in terms of ¢.
[2 marks]

Az X3~5 )
Cx%:2CG2c ¢ -5:-2¢

Answer - ZC-

Commentary

This student correctly uses the function machine to show the correct answer on the
first line but then produces further incorrect work with an attempt to collect like terms
incorrectly showing 3¢ -5 = —2¢.

1 mark
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GCSE MATHS: ANSWERS AND COMMENTARIES

Questions 12(a) and 12(b)

12 (a) Simplify fully 9x+y—-6x+y
[2 marks]

Here are two expressions.

8a

When a=25 the expressions have the same value.

Work out the value of b.
[3 marks]

© 2022 AQA




Question 12(a), response 1

12 (a)  Simplify fully 9x+y—6x+y
[2 marks]

Q¢ - oo = 2C
ut\u=2 4 T AC +2\

Answer z;z: = 525 1 .

Commentary
Fully correct solution.
2 marks

Question 12(a), response 2

12 (a)  Simplify fully Q9x+y—6x+y
[2 marks]

Answer "5 xX - &}

Commentary
Incorrect collection of like terms to 15x and -2y without working scores no marks.
0 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 12(a), response 3

12 (a) Simplifyfully 9x+y— 6%y
S [2 marks]

QDC- % 5:3:‘_: 15.'1:,
U+Ud=2y
| ) 1

Answer [ SZ'JC, = Z\,{

Commentary
Answer 15x -2y with working for 2y shown scores B1 for 2y correctly collected.
1 mark

Question 12(a), response 4

12 (a) Simplify fully 9x+y—-6x+y

*SC\M N w = O
“TAB Ny Ay
\ S 2y
Answer \%\N(")(Q“}f

[2 marks]

Commentary
Correct collection of 2y is B1.
1 mark
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Question 12(a), response 5

12 (a)  Simplify fully 9x+y—6x+y

[2 marks]
x+y-bxty = Gx-bx=Ax
Fury = Y*
J J o
Answer 3 X + kjl
Commentary
Correct collection of 3x is B1.
1 mark
Question 12(a), response 6
12 (a)  Simplify fully 9x™ y—; > +"y
[2 marks]
AQx -6x = 3@
?_1 b S 24
J

Answer ?]"L - Q;ﬁ

Commentary
A common error was to show 3x =2y which scores B1 for 3x.

1 mark
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 12(a), response 7

12 (a)  Simplifyfully 9x+y—6x+y

&= Cdx -6=<
A+ u=2y
L% \} \)

Answer 3)3_’; “"ZL—{ or Doy

5

[2 marks]

Commentary
Choice on answer line means that B1 only is awarded for 3x or 2.
1 mark

Question 12(a), response 8

12 (a)  Simplify fully 9x+y—6x+y
£ i [2 marks]

AQx. - )X = A
Yty= % 29 3 r2y

Answer 51'\’5 ‘

\l

| Sy

Commentary
Answer of 5xy means that B1 only is awarded for 3x or 2y.

1 mark
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Question 12(b), response 1

12 (b) Here are two expressions.

CHl

When «a=25 the expressions have the same value.

25’215 A‘SZCD
7/§L': Q;ZEr

Work out the value of b.
[3 marks]

©L2s
- o0 (4%5

{

- Y25

Commentary
Fully correct solution.
3 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 12(b), response 2

12 (b) Here are two expressions.

IEN e

When a=25 the expressions have the same value.

Work out the value of b.

[3 marks]

2a.-

8X25-100

—atb
Q% Bt 1S
2 5~y -
b:
Commentary

First M1 scored for 200 or 252 or 625
Second M1 scored for 625 - b

Forming the equation 200 = 625 — b would have been the next correct step.
2 marks
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Question 12(b), response 3

12 (b) Here are two expressions.

& ‘ I 2-b

When a=25 the expressions have the same value.

Work out the value of b.

x5 =10

5% =ty f
= fP~~8XE =M

b= 585

[3 marks]

b= DRS

Commentary
First M1 scored for 252 or 625
Second M1 not awarded as 8 x 5 is not a correct method to use 40 in the next step.

1 mark
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 12(b), response 4

12 (b)  Here are two expressions.

8a ‘ a—b

When a=25 the expressions have the same value.

Work out the value of .
£0 =33 =80
=

¢ 7.8
SO
33~ =17

[3 marks]

Commentary

Here there is a misconception that 8¢ means 8 + 25 together with misconception that
a? =2 x25.

There is no correct working shown and scores zero.
0 marks
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Question 14(b)

20 students are asked how many video games they played last month.
The chart shows information about the results.

Number of
students

2 3 4
Number of games

14 (a) How many students played more than 2 games?

Answer

© 2022 AQA




GCSE MATHS: ANSWERS AND COMMENTARIES

14 (b) Work out the mean number of games played.

Give your answer as a decimal.
[3 marks]

Answer

© 2022 AQA




Question 14(b), response 1

14 (b)  Work out the mean number of games played.
Give your answer as a decimal.

[3 marks]

| % = F
Z x> D =\O hx a0 220
R L{_ — i G
b x| = &
< A 215 7

20 k3 i

Answer 7 . Ly

Commentary
Fully correct solution.
3 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 14(b), response 2

14 (b)  Work out the mean number of games played.

Give your answer as a decimal.
[3 marks]

7 <) 277

0 B 5 B,
ax 4y =\t X

I x 84 = & 48
& & 5% :rlj’

E— -:?

U3
1.6

U\

0
>

Answer

Commentary

The first M1 scored for five correct products totalled to 48. The student then incorrectly
divides by 5 rather than by 20.

1 mark
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Question 14(b), response 3

14 (b) Work out the mean number of games played.

Give your answer as a decimal.

SU}M G [3 marks]
Pl = 7 7% |
w5 =20 x4
2 sel =R QX3
by [ =4 (>4  YE&-|(S
s ¥ 3 =18 Ix§ = &
N0 -Shest N+ :t-? T
— ol
Answer 5-2

Commentary

The first M1 is scored for five correct products totalled to 48. The student then
incorrectly divides by 15 rather than by 20.

1 mark

54
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 14(b), response 4

14 (b)  Work out the mean number of games played.

: ; 4
Give your answer as a decimal. — Hﬂ i

o1+ 8 =207
70 =5 =%

[3 marks]

Answer Z-I- i cacaid

Commentary

There is no multiplication of the number of students by the number of games to achieve
the correct products. The number of students has been added to an incorrect total of 20

and divided by 5.
0 marks
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Question 14(b), response 5

14 (b)  Work out the mean number of games played.

Give your answer as a decimal.
[3 marks]

'ﬁéﬂ- L9 L% 4L N =1

Answer 2-0

Commentary

There is no multiplication of the number of students by the number of games to achieve
the correct products. The number of games has been added to an incorrect total of 15

and then divided by b.
0 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Questions 15(a) and 15(b)

15 (a) Work out the multiple of 60 that is closest to 400

Answer

15 (b) Work out the highest common factor (HCF) of 12 and 18

Answer
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Question 15(a), response 1

15 (a) Work out the multiple of 60 that is closest to 400
[2 marks]
6C) ¥ 6 - 5 6Q 4 e = Y oL

60 x ¥ = 420 - 4oo = 20 )

Answer H Q:'! g )

Commentary
Fully correct solution.

2 marks

Question 15(a), response 2

15 (a) Work out the multiple of 60 that is closest to 400
— [2 marks]
{ i"'tc-k‘i\.b
i - - C. R ol I goar
[ & P t i
Answer 6
Commentary

Multiples of 60 are shown with 360 and 420 both indicated but the answer line does
not show the correct answer, 420.

1 mark

© 2022 AQA

58



GCSE MATHS: ANSWERS AND COMMENTARIES

Question 15(a), response 3

15 (a) Work out the multiple of 60 that is closest to 400

[2 marks]
Ll X = 30
Answer ( A {j X (r, = 3 é? O
Commentary
360 is shown on answer line rather than the correct answer of 420.
1 mark
Question 15(a), response 4
15 (a) Work out the multiple of 60 that is closest to 400
[2 marks]

6o ¥b=%60—= ¥t 49

 fox 1420 —>-19

Answer :JL

Commentary

420 indicated as the closest multiple but the 7th multiple indicated as the answer with 7
rather than the correct answer of 420.

1 mark
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Question 15(a), response 5

Help (+1)
15 Woaork out the multiple of 60 that is closest to 400
[2 marks]
Goxeo W \ze  SOASC Ao
o in T P 1= SoX 7= Gz
LORGZ24 0
Lok S < 2e0)
Answer S0 X 7
Commentary

420 is shown in the working but 60 x 7 is shown on the answer line, rather than the

correct
1 mark

answer of 420.

60
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 15(b), response 1

15 (b) Work out the highest common factor (HCF) of 12 and 18

7 /9

|

7 X717 TXTY >
S xly j/?? S
o —

Answer % , a

Commentary
Fully correct solution with the highest common factor selected from a correct list of
prime factors of 12 and 18.

2 marks

Question 15(b), response 2

15 (b) Work out the highest common factor (HCF) of 12 and 18

!_2 f? [2 marks]
7 X7 TF n
Sxly V5 S

3 L-q
¥

(6 x7
N

Answer é : S—

Commentary

Fully correct solution with the highest common factor selected from a correct
simplification and divisions showing 6 as the highest common factor.

2 marks
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Question 15(b), response 3

15 (b)  Work out the highest common factor (HCF) of 12 and 18
[2 marks]

Commentary

Fully correct solution with the highest common factor calculated from a Venn diagram
and prime factor decomposition of 12 and 18.

2 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 15(b), response 4

15 (b) Work out the highest common factor (HCF) of 12 and 18
[2 marks]

| 2 K4
W G
G 54

Y (T2

 S—

&o Ao

@ Answer \ C?g
A 7Y
q4

Commentary

This student has incorrectly shown the multiples of 12 and 18 rather than calculating
factors.

2 marks
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Question 15(b), response 5

15 (b) Work out the highest common factor (HCF) of 12 and 18

B LS o ©

Answer %

3 has been selected as a common factor of 12 and 18 from a list of factors of 12 and
18 without recognising that 6 is the highest common factor.

[2 marks]

Commentary

1 mark

64 © 2022 AQA



GCSE MATHS: ANSWERS AND COMMENTARIES

Question 16

An empty container is a cylinder of radius 3.5cm and height 40cm
A tennis ball is a sphere of radius 3.5cm

Will six of the tennis balls fit in the container?
Tick a box.

Yes

Show working to support your answer.
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Question 16, response 1

16

An empty container is a cylinder of radius 3.5cm and height 40cm
A tennis ball is a sphere of radius 3.5cm i
Will six of the tennis balls fit in the container?
Tick a box. /
Yes No \/
Show working to support your answer.
[2 marks]
S5 x?7 = Tecrn = heigint o \oclld
X6 - 42
Commentary

Fully correct solution working out the diameter as 7 cm and then calculating the total
height of 6 tennis balls as 42 cm and selecting No.

2 marks

66
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 16, response 2

16 An empty container is a cylinder of radius 3.5cm and height 40 cm
A tennis ball is a sphere of radius 3.5cm

Will six of the tennis balls fit in the container?

Tick a box.
Yes No \/

Show working to support your answer.

[2 marks]
“ diometer = Tcm  (3:5135)
th%ht = L0Ocm
O s7=5-71
LO:6=26 .6 onliy 5 Wil i
wo=85:- 8 SR O onses
Commentary

Fully correct solution working out the diameter as 7 cm and then dividing the height of
the container by 7 to work out that 5.7 tennis balls will fit in the container. The student
has ticked No.

2 marks
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Question 16, response 3

16 An empty container is a cylinder of radius 3.5¢cm and height 40 cm
A tennis ball is a sphere of radius 3.5cm

Will six of the tennis balls fit in the container?

Tick a box.
Yes I , i‘ Mo

Show working to support your answer.

[2 marks]

L _COn 1% D S0 €& cenn .y
bolMS con -

Commentary

The student has made no calculation for the diameter and divides the height of the
container by the radius of the tennis balls.

0 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 16, response 4

16 An empty container is a cylinder of radius 3.5cm and height 40 cm
A tennis ball is a sphere of radius 3.5cm

Will six of the tennis balls fit in the container?

Tick a box.
Yes ot No

Show working to support your answer.

[2 marks]

A5 x6=2|lum hf:igﬂ*f =400mM

Commentary

This student has made no calculation for the diameter and works out the height of 6
radii of the tennis balls.

0 marks
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Question 16, response 5

16

An empty container is a cylinder of radius 3.5cm and height 40cm
A tennis ball is a sphere of radius 3.5cm

Will six of the tennis balls fit in the container?

Tick a box.

Yes

Show working to support your answer.

It

7

e

No

T4.5%. 2% .5

Commentary

Misconception to work out the area of the cross section of a tennis ball.

0 marks

70
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 21

Use trigonometry to work out the size of angle x.

Not drawn
10cm accurately

[3 marks]
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Question 21, response 1

21 Use trigonometry to work out the size of angle x.
Not drawn
Opp 10cm accurately
] L] \
oo
[3 marks]

O 8 & o [ €518 5705
o2 )

o

Commentary
Fully correct solution.

3 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 21, response 2

21 Use trigonometry to work out the size of angle x.
Not drawn
10cm accurately
4cm
P
[3 marks]
, il
o A N5
O+ = : a2+ 52 = C_ﬁl
(O‘Z . a1 LI-Q e C_z'
(2 =-lI&
o2 =LL6"
x=_ (& =
Commentary

Misconception with an attempt to calculate the hypotenuse length.
0 marks
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Question 21, response 3

21 Use trigonometry to work out the size of angle x.
O % 10em = l:g;udrraat:r;
9. qf- cm -
[3 marks]

Tani o T Dot

 Tean (0-4%) = 2\.80\L.0444

x= 2\ » E’O |&04 44 °

Commentary

The first method mark is given for correctly identifying tangent but tan x = % is incorrect.
1 mark
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 21, response 4

21 Use trigonometry to work out the size of angle x.

O?f Not drawn
Ocm accurately
N
[3 marks]
"
| VAR o
e
Tag Loz .
- 134 ~
Commentary

The student gains the first method mark for correctly identifying tangent

1 : _ 1 :
tan = TO without tan x is incorrect but tan™ TO scores the second method mark with

incorrect answer 23.4 shown.
2 marks
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Question 21, response 5

21 Use trigonometry to work out the size of angle x.
Not drawn
10cm accurately
4cm
X
[3 marks]
Sain € C«\”\(@
B
ORP= \Oem By = 2 .
Ad3= L
x= 1@ °
Commentary

The first method mark is awarded for correctly identifying tangent % is incorrect for

second method mark without tan x = % or tan™ %

1 mark
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 21, response 6

21 Use trigonometry to work out the size of angle x.
o Not drawn
10cm accurately
4em

N H

[3 marks]
o /}Ela\ o
S HC KT A
o™

Commentary

Misconception in using cos x = % instead of tan x = % scores MO.
0 marks
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Question 22

Laura works in a shop.
The table shows the number of hours she works on two weekends.

Saturday Sunday

Weekend 1

Weekend 2

Work out the percentage increase in her total hours from Weekend 1 to Weekend 2
[3 marks]

Answer
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 22, response 1

22 Laura works in a shop.
The table shows the number of hours she works on two weekends,

E Saturday Sunday

Weekend 1 3 2

Weekend 2 5

L J
—

Work out the percentage increase in her total hours from Weekend 1 to Weekend 2
[3 marks]

(242=5) wi:=9§
zﬁ’/'l'l'":r/l‘\fq w1=9

Sz100.  1288°% _oa™
L= 20" 1007 inceemse

Answer 8 O %

Commentary
Fully correct solution with method of equating 5 hours to 100%.
3 marks
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Question 22, response 2

22

Laura works in a shop.
The table shows the number of hours she works on two weekends.
! Saturday Sunday
Weekend 1 3 2
Weekend 2 51 3 .
’ - 2 '
Work out the percentage increase in her total hours from Weekend 1 to Weekend 2
[3 marks]
\’b-h& AN WY \\\M"u e Wiz S
i : kY \
'&‘o\vﬁu WA e\ . T Nowrs L O,X_
5[ = ©.%
S > o Rk \OU 7 R Dowug,
i SREesp =S K NGE = RS%
Answer Rt) - k') %
Commentary

5 and 9 have been identified as the correct increase in hours for W1 and W2 for the first
method mark.

An incorrect method has been used to calculate percentage increase, dividing 5 by 9
instead of 9 by 5.

1 mark

80

© 2022 AQA



GCSE MATHS: ANSWERS AND COMMENTARIES

Question 22, response 3

22 Laura works in a shop.
The table shows the number of hours she works on two weekends.

‘ Saturday Sunday

Weekend 1 l 3 2 pat 5h]’ s
Weekend 2 5% 3% = Qnes

Work out the percentage increase in her total hours from Weekend 1 to Weekend 2
[3 marks]

Sxp0 =300 SO 300~ QU6
Ixpp =540

Gt S= [k

9-S=l = Y7o

Answer LF'O %

Commentary

5 and 9 have been identified as the correct increase in hours for W1 and W2 for the first
method mark.

An incorrect method has been used to calculate percentage increase with 4 hours
incorrectly equated to 40%.

1 mark
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Question 22, response 4

22

Laura works in a shop.
The table shows the number of hours she works on two weekends.
|
. Saturday Sunday
Weekend 1 3 2
1 1
Wﬂﬂiiend 2 55 35
Work out the percentage increase in her total hours from Weekend 1 to Weekend 2
[3 marks]
2 \(\Ou.fb = o
g —5—20 % = 3 mn
5 X 3% = q
2 72 7 = NOUS.
¢ x60 = 30
So <~ 3= \0O
Answer \ (g O %
Commentary

5 and 9 have been identified as the correct increase in hours for W1 and W2 for first
method mark.

The correct method has been used to calculate percentage increase, by equating
100% = 5 hours (300 mins) and 1% = 3 mins, to then correctly show 540 + 3 = 180% for
the second method mark.

The student misses the final step of 180 — 100 = 180%.

2 marks

82
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 22, response 5

22 Laura works in a shop.
The table shows the number of hours she works on two weekends,

| )
. Saturday Sunday
Weekend 1 3 2 5 hats
Weekend 2 5% 3% q [/L-Tﬁm

U \
L._{.k =

Work out the percentage increase in her total hours from Weekend 1 to Weekend 2

[3 marks]
hMuad A = B \rs.

-~ 4)00 Mo .

o oad - & \u“:; D
4 -5 - %/r..!*ﬁlﬂo = \Ao'®

e | oo ~ N

Commentary

5 and 9 have been identified as the correct increase in hours for W1 and W2 for the first
method mark.

The student has used the correct method to calculate percentage increase, dividing 9 by
5 and multiplying by 100 to show 180%.

This answer is missing the final step of 180 — 100 = 180%.
2 marks
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Question 22, response 6

22 Laura works in a shop.

The table shows the number of hours she works on two weekends.

Saturday Sunday

Weekend 1 3 2

Weekend 2 | 5% 3

% J QT

Work out the percentage increase in her total hours from Weekend 1 to Weekend 2
[3 marks]

weeltead 1= 3lasak 1_',1,?. SUA

welWeak 1= 5w domins 30k 3N 20 aninSSun

D Kbo = (b0 wiad | = 3‘39“’“;\‘;
L+«po= (17 WMALL = D% 0 Ming

Skb0 2B00 + 35=%0 390 1np - 554
L X 6o > 130 + v = 210

Answer 55 %

Commentary

300 and 540 have been identified as the correct increase in hours for W1 and W2 for
the first method mark.

The student has used an incorrect method to calculate percentage increase, dividing 300
by 540 instead of 540 by 300.

1 mark
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Question 24

A is an arithmetic progression.
Here are the first four terms.

13

G is a geometric progression.

Here are the first four terms.

nth term of A = 8th term of G

Work out the value of n.
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86

Question 24, response 1

24 A is an arithmetic progression.
Here are the first four terms.

13 16 19 22
+3 E 35

G is a geometric progression.
Here are the first four terms.

2 4 8 6 31 6% I8
X7 X x 2 o
— — 7256
| nth term of A = Bth term of G
Work out the value of n.
[4 marks]

nth teond A = An+(0 =

3n t10= 8th temmd) &

(6 ¥i= 3L 3nt(0=256
= - =
Il 2'_ 6;4 03,.,, = 9 u;;,g '
i 25 & 2 n=se
n= 3L
Commentary

Fully correct solution.
4 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 24, response 2

24 A is an arithmetic progression.
Here are the first four terms.

13 16 19 22

G is a geometric progression.
Here are the first four terms.

2 4 8 16

J nthtermof A=8thterm of G

term o ax A - 34 + Lo

Work out the value of #.
[4 marks]

Lk

A

A ——

fgﬂ \Wr e op & - fe ; 64 / {Z?r é'SGD

Ta +lox 266

2 56

Commentary

The student correctly identifies 3n + 10 as nth term for the arithmetic progression and
256 as the 8th term of the geometric progression for the first two method marks.

The third mark is scored for equating 3n + 10 = 256 but the student does not evaluate
the solution.

3 marks
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Question 24, response 3

24 A is an arithmetic progression.
Here are the first four terms.

13 16 19 22
+ e +er

G is a geometric progression.
Here are the first four terms.

2 4 8 16
\“""“;’/‘;}. 2 2 i

nth term of A = 8Bth term of G
Cia O 246

Work out the value of n.
[4 marks]

Al
by +\0o = ZS6

_!_6 X2= %2 x2 = be¥XZ :llsrl_;ﬁ |

Commentary

The student has correctly identified 256 as the 8th term of the geometric progression
for the second method mark.

1 mark
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Question 24, response 4

4 A is an arithmetic progression.
? e 2z2n+ 10
Here are the first four terms.

13 16 19 22
+*32 4S5 =

G is a geometric progression.

Here are the first four terms.

2 4 8 16
<+ 2 “+ L + 8

nth term of A = 8th term of G J

Work out the value of #.

[4 marks]

52 L4 12Q 256

Commentary

The student correctly identifies 3n + 10 as nth term for the arithmetic progression and
256 as the 8th term of the geometric progression for the first two method marks.

They do not equate 3n + 10 = 256 for the third method mark..

2 marks
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Question 24, response 5

24

A is an arithmetic progression.
Here are the first four terms.
13 16 19 22
L.~
+
G is a geometric progression.
Here are the first four terms.
2 4 8 186
Te—p
‘é‘&'l._
nith term of A = 8th term of G
Work out the value of n.
[4 marks)]
LTo% 8,16, 32, L, 120, L 5C
G b nfe B =150 «
7256 -\3=2.U3 23- ¢l
ﬂ = 1Dn4£3 . _ g
Gz Lk =
.~ 156 0
Commentary

This answer correctly identifies the common difference of 3 for the arithmetic
progression and 256 as the 8th term of the geometric progression for the first two
method marks.

The third mark is scored for (256 —13) = 3.
3 marks
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Question 25

The L-shape is made from rectangles.

Not drawn
accurately

The area is 44 cm?

Work out the perimeter.

Answer
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Question 25, response 1

25 The L-shape is made from rectangles.

2cm Not drawn

accuralely
4dcm
7em \O
s * |
b & 2L
VL f

The area is 44 cm?

Work out the perimeter.
[3 marks]

B ol Bl W N o W 57 A nd e .

Answer 5 cm

Commentary

Fully correct solution with areas of 14 and 30 shown on diagram together with correct
lengths of 12 and 10.

Correct addition of all lengths shown with correct answer 38 ¢cm indicated.
3 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 25, response 2

25 The L-shape is made from rectangles.
2cm Not drawn
accurately
o5 - ken| %Y aem
Tem | Zem | D~
B 3cm
S
The area is 44 cm?
Work out the perimeter.
[3 marks]
by Lweliz Semt = L — § =
— X R = S = e = % o~ Y
= baSe = |

= 11#'?‘3:10*-‘-&1—21'-7:: S Eerm

=€ em

Answer &

Commentary

Fully correct solution with areas of 8 and 36 calculated then correct length of 12
calculated from 44 — 8 = 36 and 36 + 3.

Correct addition of all lengths shown with correct answer 38 ¢cm indicated.

3 marks
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Question 25, response 3

25 The L-shape is made from rectangles.

2¢cm Not drawn
f accurately
~ |t
Tem| 7 _| & Forh)
&
pr I8
F | 30cm fsem
—=— oy
-
< lOcm

The area is 44 cm?
Work out the perimeter. K
[3 marks]
Area . nu-—ju=30  30-3=20cmn
78 -
perimeteri 42+ 4T3 F3 10 = 34

Answer SH— - em

Commentary
The first method mark is given for the correct area 14 shown on diagram.

The second method mark is given for the correct calculation of 10 cm calculated from
44 —14 =30 and 30 + 3.
Incorrect placement of the 10 cm length on the diagram leads to an incorrect perimeter.

2 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 25, response 4

25 The L-shape is made from rectangles.
2cm Not drawn
accurately
4cm
7cm —— =T Com
;‘ 1aem 13cm
2cn! SO
The area is 44 cm?
Work out the perimeter.
[3 marks]
4@_}-& A2 3= \R cm
&) 3433 S +S - \cewm
2% o
Answer 3% cm

Commentary

No area calculation to correctly calculate missing lengths.

Incorrect length of 5 cm shown on diagram.

Perimeters of two rectangles incorrectly added together for final answer.
0 marks
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Question 25, response 5

25 The L-shape is made from rectangles.

2ecm Mot drawn
accurately

4cm
Tem | QCN\

Jcm

LN

The area is 44 cm®

Work out the perimeter.

LSk R 0o

=)

[3 marks]

a2 o

Answer 3 O cm

Commentary

The student has made an incorrect perimeter calculation following incorrect lengths of
6 cm and 8 cm shown on diagram.

0 marks
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Turn over for next question
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Question 27/

Information about two fridge-freezers, A and B, is shown.

Total capacity is 330 litres

fridge capacity : freezer capacity =3 : 2

Freezer

Fridge capacity is 294 litres

fridge capacity : freezer capacity =7 : 3

Freezer
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GCSE MATHS: ANSWERS AND COMMENTARIES

Grace buys one of these fridge-freezers.

She buys the one with the greater freezer capacity.

Which one does she buy?
You must show your working.
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Question 27, response 1

Grace buys one of these fridge-freezers.
She buys the one with the greater freezer capacity.

Which one does she buy?

You must show your working.
[4 marks]

3oz o (45.132
0 24— b6 R
sx3 = |48 | ,},?’l Jreader Jnan
653(1';»!32 | | T4

7436 294124
U 241242 e
4AY¥v={16

Answer A

Commentary
Fully correct solution.
4 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 27, response 2

Grace buys one of these fridge-freezers.

She buys the one with the gmata@m’ty.

Which one does she buy?
You must show your working.
fa) B [4 marks]
—————— et

2 « "2 iR a2 =) |
QA0+ S =6 |ZNUE = 1690

o~ = 1R 12610, . Re= 205y
G0 = 27 249 L.~S5<FK. 2

X > & g & >

Commentary

First two method marks are awarded for correctly calculating the freezer capacity for A
from 330 + 5 =66 and 66 x 2 = 132.

The correct calculation would have been 294 = 7 = 42 and 42 x 3 = 126 for the freezer
capacity of B.

2 marks
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Question 27, response 3

Grace buys one of these fridge-freezers.
She buys the one with the greater freezer capacity.

Which one does she buy?
You must show your working.
[4 marks]
A B
_I3c:S=Lb AAh=7 =l o =
Uz - 94 1 ak
3. 3
NS
Answer A
Commentary

The first method mark is awarded for 330 + 5 = 66 without proceeding to 66 x 2 = 132.
The third method mark is given for 294 + 7 = 42.
2 marks
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 27, response 4

Grace buys one of these fridge-freezers.
She buys the one with the greater freezer capacity.

Which one does she buy?
You must show your working.

D30
3 2 A

[4 marks]

%W%ﬁ FC

? o] ‘ : '{::{ﬂ"’
gty

Answer

Commentary

The student is given the first two method marks for correctly calculating the freezer

2 x 330 = 132.
5

capacity for A from

% x 294 =126 would have been the correct calculation for the freezer capacity of B.

2 marks
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Question 28

Tom and Adil are the two runners in a 200-metre race.

Tom completes the race in 24 seconds.

Adil completes the race at an average speed of 28.8 kilometres per hour.

Who wins the race?

You must show your working.

Answer
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GCSE MATHS: ANSWERS AND COMMENTARIES

Question 28, response 1

28 Tom and Adil are the two runners in a 200-metre race.
Tom completes the race in 24 seconds.
Adil completes the race at an average speed of 28.8 kilometres per hour.

Who wins the race? ‘ Zjém? n P& boal
You must show your working. ﬁqwg o
€ [3 marks]

ﬁl?é{_"gf = di-ﬂﬂff

Adit = 2 neires  per send [On— > 4 Secs
200 9 = 264ccondS

Answer j;O_r’h
Commentary
Fully correct solution from % = 8 m/s for Adil and 200 = 8 = 25 secs, to show

that Adil finished after Tom and selecting Tom as the winner.
3 marks
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Question 28, response 2

28 Tom and Adil are the two runners in a 200-metre race.
Tom completes the race in 24 seconds.
Adil completes the race at an average speed of 28.8 kilometres per hour.

Who wins the race?
You must show your working.

[3 marks]
21X 8 X000 =2¥800  ~ a0 = £ a5
co 60
BX ‘Z,q' 2z 15[2, AMENELS
Answer T0A
Commentary
Fully correct solution from 28.8 x 1000 = 8 m/s for Adil and 8 x 24 = 192 m to show
60 x 60

that Adil finished behind Tom and selecting Tom as the winner.
3 marks
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Question 28, response 3

BPEEG{ = d/sc ;

28 Tom and Adil are the two runners in a 200-metre race.
Tom completes the race in 24 seconds.
Adil completes the race at an average speed of 28.8 kilometres per hour.

Who wins the race?

You must show your working.

Tom [3 marks]
5= 8. o
d = accmms SF‘QQCL' /’E"
e
t -+ 2L Seconds Y =83

S+ 2%-%«m/n R
_d * 00 maiies wme=d/s-
LD 4 AV A VAN /N 200758 -Rum/h

[

. _=G-qu

Answer

Commentary

This student receives the first method mark for 200 + 24 = 8.3 m/s or for
200 + 28.8 = 6.94.

1 mark
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Question 28, response 4

28 Tom and Adil are the two runners in a 200-metre race.

Tom completes the race il:lfz_ijmmn@.

Adil completes the race at an average speed E:’f_.?/aj_kﬂnmetres per hour.

Who wins the race?

You must show your working.
[3 marks]

Lo~ 2 - %—‘Swn{‘_‘a 7 %5 X000 2%9%00 m /B ov

(06”4(0@ =Secon® n bgwr 2 3600
2006 X &.7 — 'Lc\‘écﬁﬂyfh

_Zq%ﬁmm 7 l%gﬂﬁmfh

Answer \LC) WAL

Commentary
Here the first method mark is awarded for 200 + 24 = 8.3 m/s.

The second method mark is given for 3600 x 8.3, converting 8.3 m/s into 29 880
metres per hour and comparing with 28.8 km/h converted into 28 880 metres per hour.

The final accuracy mark is lost by rounding the speed of 8.33 recurring to 8.3.

2 marks
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Question 28, response 5

28 Tom and Adil are the two runners in a 200-metre race.
Tom completes the race in 24 seconds.
Adil completes the race at an average speed of 28.8 kilometres per hour,
Who wins the race?
You must show your working.
[3 marks]

Qoo “20= 8 3urps P88umz 9 88oo m

MP3 % e Per Seceme zggw ;' ﬁ.'ﬁj - nga =,

.I‘r/lgﬂ Té{) - am.!{_

8.34>8

-
Answer fara

Commentary

The student is awarded the first method mark for 200 + 24 for Tom.
28.8 x 1000
60 x 60
The final accuracy mark is lost by an incorrect value for 200 + 24 stated as 8.34 m/s.

The second method mark is given for = 8 m/s for Adil.

2 marks
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Question 28, response 6

28 Tom and Adil are the two runners in a 200-metre race.
Tom completes the race in 24 seconds.
Adil completes the race at an average speed of 28.8 kilometres per hour.

Who wins the race?
You must show your working.

[3 marks]
W 2 oNds. = TV
283 riphwler s Por . i
Z _O.U8 kiomuery U mMnuic.
_ U300 Muers P Min
60-7. 724 = 28 Tom  Does S00m  per

25 %200 = 900 M. Agu ony duey
Uso Mmuers per  poin.

Answer TOM

Commentary

Fully correct solution with a correct calculated comparison of how far Tom (500 m) and
Adil (480 m) would have run in a minute.

3 marks
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Question 28, response 7

28 Tom and Adil are the two runners in a 200-metre race.
Tom completes the race in 24 seconds.
Adil completes the race at an average speed of 28.8 kilometres per hour.

Who wins the race?

You must show your working.
[3 marks]

T=205¢condsy 200 =¥ 50 Neesceond  _GRQ =20
CYIN 206

R%M%LXMQ@— LROM =0 3eccnds
2 HOZEE AOCO™M =AM 920 Sccands
?_0(‘} =0 -‘}."{\M
1 0G0
P«.‘.J,(,(ﬂ%f Keed = 78.% e Rec g

; )
WO\ S PO §, Q.8 Qo anungie

0-2
0. G X\OOO = LXO o0 Ve kK

Answer Q| A\

Commentary
The first method mark is awarded for 200 + 24 = 8.3 m/s.

The second method mark is not awarded for calculating a distance of 480 m in 60 s for
Adil without a correct distance calculated for Tom in 60 s to compare with the 480 m
for Adil.

1 mark
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